[[normalized x? probability ]

Entries 0.07 Entries 267401
107} Mean 1.146 H H H H H v | Mean 0.504
Std Dev [ t 1 |stdbev 0.3239
. . 006 R L L R T
N ERT 267401
I Mean 0.504
10 E 0.05] Std Dev 0.3239
. Entries Entries 268141
= Mean Mean 05037
10 E ! 0.04 Std Dev 0.324
E o 0.03 i
107 2
F 0.02 Entries 268145
5 i Mean 0.5
10°F Std Dev 4
E 0.01 i
F Entries 276581
I M Mean 0.5019
o104 o ruopubun aliay
= =
T oo : < ]
R o AL T U e I
R AR A
1 P LM L
. W b v v v Yoy w i e v v w] o [ S U T Ut SO T I
0 2 4 6 8 10 12 14 16 18 20 “0 010203040506070809 1
—_— X2 Prob(x?)
D oT| TOUUEVT
DM onna - Dgbea erToT—
— D fitted4_T000evt
s DQMfit_cpEOK _1000evt
s DOMfit"cPeOK~SORTRZ2_1000evt
e DOMfit_cpeOK_SORTRZ2_TESTOUTLIER3_1000evt

n

< X2/ndf>

°
T
o
A3 R »
2 2 18fF
% 25 4 % 16F
Vo . Vo14F
1.2F
R R RRRPERIRRTRRLr £ [ | | EEEET 1
0.8F
1 iy 0.6F
0s i 0.4f
0.2F
o+ o G
T 3
v @
0.5
0.95 0
10* pto3 10°°




	Contents
	Page 1


